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Answer ALL questions. Write your answers in the spaces provided.

You will need to use the data on page 2 and 3 of the Resource Booklet to answer
Question 1.

1 Prepare the statement of financial position at 31 December 2018.
(22)
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Pet plc

Statement of financial position at 31 December 2018

(Total for Question 1 = 22 marks)
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You will need to use the data on page 4 of the Resource Booklet to answer part (b).

2 (a) Complete the sentences.
(4)

Faithful oo means financial information must
0 YIS , heutral and free from errors.

Verifiability provides assurance to the users that information is

(b) Prepare the statement of profit or loss for the year ended 30 June 2018.
(11)
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Leo

Statement of profit or loss for the year ended 30 June 2018
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Leo received an order with a payment from a customer on 15 January 2019 for the
goods to be delivered on 15 July 2019.
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(c) (i) State two accounting concepts that apply in this scenario.
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(i) Explain how this transaction should be treated in the financial statements
of Leo.
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You will need to use the data on page 5 of the Resource Booklet to answer parts (a), (c)
and (d).

3 (a) Prepare for the year ended 31 December 2018:

(i)
(3)

Machinery - Cost Account

(iii) Calculate the profit or loss on disposal.

$ Profit (v) Loss (V)
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(b) Define the terms:

(i) subsidiary

(1)
(i) goodwill.
(1)
(c) Calculate the profit for the year ended 31 December 2018 attributable to the
non-controlling interest.
(1)
(d) Calculate the amount to be shown in the consolidated statement of financial
position at 31 December 2018 for:
(i) the non-controlling interest
(2)
(i) goodwill.
(4)

(Total for Question 3 = 18 marks)
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You will need to use the data on page 6 of the Resource Booklet to answer parts (b), (c)
and (d).

4 (a) State two stakeholders who may be interested in the financial statements of Mya
Pottery Ltd.

(b) Prepare a statement to show the total profit, using marginal costing technique,
for manufacturing:

(i) handmade mugs
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Mya Pottery Ltd decided to produce all the mugs by machine.
(c) Calculate the:

(i) break-even point in units

(1)
(i) margin of safety in units
(1)
(iii) margin of safety as a percentage.
(1)
The new machine will have the capacity to make 750 units per month.
A retail customer has offered to buy 200 units at a price of $7.50 each.
(d) Discuss whether Mya Pottery Ltd should accept the order.
You must justify your decision.
(5)

(Total for Question 4 = 19 marks)
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You will need to use the data on pages 7 and 8 of the Resource Booklet to answer parts
(b), (c) and (d).

5 (a) Describe one benefit to a business of budgetary control.

(2)
(b) Prepare the cash budget.
(13)
Kaples
Cash budget for the six-month period ending 31 December 2019
Jul Aug Sep Oct Nov Dec
$'000 $'000 $'000 $'000 $'000 $'000
Receipts
Cash sales

Trade receivables
(credit sales)

Total receipts

Payments

Cash purchases

Trade payables
(credit purchases)

Wages and salaries

Heat and power

General expenses

Total payments

Net inflow/(outflow)

Opening balance

Closing balance
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(c) Explain the effect on cash and cash equivalents of the proposed change in the
purchase payment terms.

(Total for Question 5 = 22 marks)

TOTAL FOR PAPER = 100 MARKS
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